# Abstract metric spaces and Hardy-Rogers-type theorems 

Slobodan Radojevića ${ }^{\text {, Ljiljana Paunović }}{ }^{\text {b }}$, Stojan Radenović ${ }^{\text {a,* }}$<br>${ }^{\text {a }}$ University of Belgrade, Faculty of Mechanical Engineering, Kraljice Marije 16, 11120 Beograd, Serbia<br>${ }^{\text {b }}$ Teacher Education School in Prizren-Leposavić, Nemanjina b.b, 38218, Leposavić, Serbia

## A R T I C L E IN F O

## Article history:

Received 20 September 2009
Received in revised form 16 November 2010
Accepted 16 November 2010

Keywords:
Common fixed point
Cone metric space
Normal and nonnormal cone
Coincidence point
Symmetric space


#### Abstract

The purpose of the present paper is to establish coincidence point theorem for two mappings and fixed point theorem for one mapping in abstract metric space which satisfy contractive conditions of Hardy-Rogers type. Our results generalize fixed point theorems of Nemytzki [V.V. Nemytzki, Fixed point method in analysis, Uspekhi Mat. Nauk 1 (1936) 141-174], Edelstein [M. Edelstein, On fixed and periodic point under contractive mappings, J. Lond. Math. Soc. 37 (1962) 74-79] and Huang, Zhang [L.G. Huang, X. Zhang, Cone metric spaces and fixed point theorems of contractive mappings, J. Math. Anal. Appl. 332 (2)(2007) 1468-1476] from abstract metric spaces to symmetric spaces (Theorem 2.1) and to metric spaces (Theorem 2.4, Corollaries $2.6-2.8$ ). Two examples are given to illustrate the usability of our results.


© 2010 Elsevier Ltd. All rights reserved.

## 1. Introduction and preliminaries

Abstract (cone) metric spaces were introduced in [1], in which authors described convergence in abstract metric spaces and introduced completeness. Then, they proved some fixed point theorems of contractive mappings on cone metric spaces. Also, in [2-10], some common fixed point theorems were proved for maps on cone metric spaces.

Consistent with Huang and Zhang [1] and Deimling [11], the following definitions and results will be needed in the sequel.
Let $E$ be a real Banach space. A subset $P$ of $E$ is called a cone if and only if
(a) $P$ is closed, nonempty and $P \neq\{\theta\}$;
(b) $a, b \in \mathbb{R}, a, b \geq 0$, and $x, y \in P$ imply $a x+b y \in P$;
(c) $P \cap(-P)=\{\bar{\theta}\}$.

Given a cone $P \subset E$, we define a partial ordering $\preceq$ with respect to $P$ by $x \preceq y$ if and only if $y-x \in P$. We shall write $x \prec y$ to indicate that $x \preceq y$ but $x \neq y$, while $x \ll y$ will stand for $y-x \in$ int $P$ (interior of $P$ ). A cone $P \subset E$ is called normal if there is a number $K>0$ such that for all $x, y \in E$,

$$
\begin{equation*}
\theta \preceq x \preceq y \quad \text { implies }\|x\| \leq K\|y\| . \tag{1.1}
\end{equation*}
$$

The least positive number satisfying the above inequality is called the normal constant of $P$. It is clear that $K \geq 1$. Most of ordered Banach spaces used in applications posses a cone with the normal constant $K=1$, and if this is the case, proofs of the corresponding results are much alike as in the metric setting. If $K>1$, this is not the case. From [11], we know that there exists ordered Banach space $E$ with cone $P$ which is not normal but with int $P \neq \emptyset$.

The cone $P$ is called regular if every increasing sequence in $E$ which is bounded from above is convergent. That is, if $\left(x_{n}\right)_{n \geq 1}$ is a sequence in $E$ such that $x_{1} \preceq x_{2} \preceq \cdots \preceq y$ for some $y \in E$, then there is $x \in E$ such that $\lim _{n \rightarrow \infty}\left\|x_{n}-x\right\|=0$. Every regular cone is normal [11], but the converse is not true.

[^0]Definition 1.1 ([1]). Let $X$ be a nonempty set. Suppose that the mapping $d: X \times X \rightarrow E$ satisfies
(d1) $\theta \preceq d(x, y)$ for all $x, y \in X$ and $d(x, y)=\theta$ if and only if $x=y$;
(d2) $d(x, y)=d(y, x)$ for all $x, y \in X$;
(d3) $d(x, y) \preceq d(x, z)+d(z, y)$ for all $x, y, z \in X$.
Then, $d$ is called a cone metric on $X$ and $(X, d)$ is called a cone metric space. The concept of a cone metric space is more general than that of a metric space, because each metric space is a cone metric space where $E=\mathbb{R}$ and $P=[0,+\infty)$.

For basic properties of cone metric spaces, we refer to [1].
Definition 1.2 ([1]). Let $(X, d)$ be a cone metric space. We say that $\left\{x_{n}\right\}$ is
(e) a Cauchy sequence if for every $c$ in $E$ with $\theta \ll c$, there is an $N$ such that for all $n, m>N, d\left(x_{n}, x_{m}\right) \ll c$;
(f) a convergent sequence if for every $c$ in $E$ with $\theta \ll c$, there is an $N$ such that for all $n>N, d\left(x_{n}, x\right) \ll c$ for some fixed $x$ in $X$.

A cone metric space $X$ is said to be complete if every Cauchy sequence in $X$ is convergent in $X$. In the case of normal cone, it is known [1] that $\left\{x_{n}\right\}$ converges to $x \in X$ if and only if $\left\|d\left(x_{n}, x\right)\right\| \rightarrow 0$ as $n \rightarrow \infty$.

For the given cone metric space $(X, d)$, one can construct a symmetric space ( $X, D$ ) where "symmetric" (in sense of [12-14]) $D: X \times X \rightarrow \mathbb{R}$ is given by $D(x, y)=\|d(x, y)\|$ (for details see [15]). In the case when ( $X, d$ ) is a cone metric space with a normal cone $P$, then (1.1) implies

$$
D(x, y) \leq K(D(x, z)+D(z, y))
$$

$x, y, z \in X, K$ is a normal constant of $P$.
We find it convenient to introduce the following definition.
Definition 1.3 (See [4]). Let ( $X, d$ ) be a cone metric space and $P$ a cone with nonempty interior. Suppose that the mappings $f, g: X \rightarrow X$ are such that the range of $g$ contains the range of $f$, and $f(X)$ or $g(X)$ is a complete subspace of $X$. In this case we will say that the pair $(f, g)$ is Abbas and Jungck's pair, or shortly AJ's pair.

Definition 1.4 (See [2]). Let $f$ and $g$ be self-maps of a set $X$ (i.e., $f, g: X \rightarrow X$ ). If $\omega=f x=g x$ for some $x$ in $X$, then $x$ is called a coincidence point of $f$ and $g$, and $\omega$ is called a point of coincidence of $f$ and $g$. Self-maps $f$ and $g$ are said to be weakly compatible if they commute at their coincidence point, that is, if $f x=g x$ for $x \in X$, then $f g x=g f x$.

Proposition 1.5 (See [2]). Let $f$ and $g$ be weakly compatible self-maps of a set $X$. If $f$ and $g$ have a unique point of coincidence $\omega=f x=g x$, then $\omega$ is the unique common fixed point of $f$ and $g$.

In the following, we always suppose that $E$ is a Banach space, $P$ is a normal cone in $E$ with int $P \neq \emptyset$ and $\preceq$ is the partial ordering with respect to $P$.

The next example shows that the fixed point problem cannot be solved in symmetric spaces as in the metric setting.
Example 1.6. Let $X=(0, \infty)$ and $d(x, y)=(x-y)^{2}$. Obviously, $(X, d)$ is a symmetric space. The mapping $f x=\frac{1}{2} x, x \in X$ is a contraction in the Banach sense with $\frac{1}{4} \leq \lambda<1$, because

$$
d(f x, f y)=(f x-f y)^{2}=\frac{1}{4}(x-y)^{2}=\frac{1}{4} d(x, y) \leq \lambda d(x, y)
$$

for $\lambda \in\left[\frac{1}{4}, 1\right)$. However, $f$ has no fixed points.
However, symmetric space $(X, D)$ obtained as associated with cone metric space $(X, d)$ with a normal cone $P$ has a property that any contractive mapping possesses a fixed point (see [9]).

## 2. Main results

Theorem 2.1. Let $(X, d)$ be a complete cone metric space, $P$ a normal cone with normal constant K. Suppose that ( $f, g$ ) is AJ's pair, and that there exist nonnegative constants $a_{i}, i=\overline{1,5}$ satisfying $\sum_{i=1}^{3} a_{i}+K\left(a_{4}+a_{5}\right)<1$ such that, for every $x, y \in X$,

$$
\begin{equation*}
D(f x, f y) \leq a_{1} D(g x, g y)+a_{2} D(g x, f x)+a_{3} D(g y, f y)+a_{4} D(g x, f y)+a_{5} D(g y, f x) \tag{2.1}
\end{equation*}
$$

Then, $f$ and $g$ have a unique coincidence point in $X$. Moreover, if $f$ and $g$ are weakly compatible, $f$ and $g$ have a unique common fixed point.

Proof. Let $x_{0} \in X$ be arbitrary and let $x_{1} \in X$ be chosen such that $y_{0}=f\left(x_{0}\right)=g\left(x_{1}\right)$. This can be done, since $f(X) \subseteq g(X)$. Let $x_{2} \in X$ be such that $y_{1}=f\left(x_{1}\right)=g\left(x_{2}\right)$. Continuing this process, having chosen $x_{n} \in X$, we choose $x_{n+1}$ in $X$ such that

$$
y_{n}=f\left(x_{n}\right)=g\left(x_{n+1}\right)
$$

We have to show that

$$
\begin{equation*}
D\left(y_{n}, y_{n+1}\right) \leq \lambda D\left(y_{n-1}, y_{n}\right) \quad \text { for some } \lambda \in[0,1), n \geq 1 \tag{2.2}
\end{equation*}
$$

From

$$
\begin{aligned}
D\left(y_{n}, y_{n+1}\right)= & D\left(f x_{n}, f x_{n+1}\right) \leq a_{1} D\left(g x_{n}, g x_{n+1}\right)+a_{2} D\left(g x_{n}, f x_{n}\right) \\
& +a_{3} D\left(g x_{n+1}, f x_{n+1}\right)+a_{4} D\left(g x_{n}, f x_{n+1}\right)+a_{5} D\left(g x_{n+1}, f x_{n}\right) \\
= & a_{1} D\left(y_{n-1}, y_{n}\right)+a_{2} D\left(y_{n-1}, y_{n}\right)+a_{3} D\left(y_{n}, y_{n+1}\right)+a_{4} D\left(y_{n-1}, y_{n+1}\right)+a_{5} D\left(y_{n}, y_{n}\right) \\
\leq & \left(a_{1}+a_{2}+K a_{4}\right) D\left(y_{n-1}, y_{n}\right)+\left(a_{3}+K a_{4}\right) D\left(y_{n}, y_{n+1}\right)
\end{aligned}
$$

and from

$$
\begin{aligned}
D\left(y_{n+1}, y_{n}\right)= & D\left(f x_{n+1}, f x_{n}\right) \leq a_{1} D\left(g x_{n+1}, g x_{n}\right)+a_{2} D\left(g x_{n+1}, f x_{n+1}\right) \\
& +a_{3} D\left(g x_{n}, f x_{n}\right)+a_{4} D\left(g x_{n+1}, f x_{n}\right)+a_{5} D\left(g x_{n}, f x_{n+1}\right) \\
= & a_{1} D\left(y_{n}, y_{n-1}\right)+a_{2} D\left(y_{n}, y_{n+1}\right)+a_{3} D\left(y_{n-1}, y_{n}\right)+a_{4} D\left(y_{n}, y_{n}\right)+a_{5} D\left(y_{n-1}, y_{n+1}\right) \\
\leq & \left(a_{1}+a_{3}+K a_{5}\right) D\left(y_{n-1}, y_{n}\right)+\left(a_{2}+K a_{5}\right) D\left(y_{n}, y_{n+1}\right),
\end{aligned}
$$

we obtain

$$
2 D\left(y_{n+1}, y_{n}\right) \leq\left(2 a_{1}+a_{2}+a_{3}+K\left(a_{4}+a_{5}\right)\right) D\left(y_{n}, y_{n-1}\right)+\left(a_{2}+a_{3}+K\left(a_{4}+a_{5}\right)\right) D\left(y_{n+1}, y_{n}\right)
$$

that is,

$$
D\left(y_{n+1}, y_{n}\right) \leq \lambda D\left(y_{n}, y_{n-1}\right), \quad \lambda=\frac{2 a_{1}+a_{2}+a_{3}+K\left(a_{4}+a_{5}\right)}{2-\left(a_{2}+a_{3}+K\left(a_{4}+a_{5}\right)\right)}<1, n=1,2, \ldots
$$

Further, (2.2) implies that

$$
\begin{equation*}
D\left(y_{n}, y_{n-1}\right) \leq \lambda D\left(y_{n-1}, y_{n-2}\right) \leq \cdots \leq \lambda^{n-1} D\left(y_{1}, y_{0}\right) \tag{2.3}
\end{equation*}
$$

Now we shall show that $\left\{y_{n}\right\}$ is a Cauchy sequence. By the triangle inequality, for $n>m$ we have

$$
d\left(y_{n}, y_{m}\right) \preceq d\left(y_{n}, y_{n-1}\right)+d\left(y_{n-1}, y_{n-2}\right)+\cdots+d\left(y_{m+1}, y_{m}\right)
$$

Hence, as $P$ is a normal cone, we have

$$
\begin{aligned}
D\left(y_{n}, y_{m}\right)=\left\|d\left(y_{n}, y_{m}\right)\right\| & \leq K\left(\left\|d\left(y_{n}, y_{n-1}\right)+d\left(y_{n-1}, y_{n-2}\right)+\cdots+d\left(y_{m+1}, y_{m}\right)\right\|\right) \\
& \leq K\left(\left\|d\left(y_{n}, y_{n-1}\right)\right\|+\left\|d\left(y_{n-1}, y_{n-2}\right)\right\|+\cdots+\left\|d\left(y_{m+1}, y_{m}\right)\right\|\right) \\
& =K D\left(y_{n}, y_{n-1}\right)+K D\left(y_{n-1}, y_{n-2}\right)+\cdots+K D\left(y_{m+1}, y_{m}\right)
\end{aligned}
$$

Now by (2.3), it follows that

$$
\begin{aligned}
D\left(y_{n}, y_{m}\right) & \leq K\left(\lambda^{n-1}+\lambda^{n-2}+\cdots+\lambda^{m}\right) D\left(y_{1}, y_{0}\right) \\
& \leq \frac{K \lambda^{m}}{1-\lambda} D\left(y_{1}, y_{0}\right) \rightarrow 0, \quad \text { as } m \rightarrow \infty
\end{aligned}
$$

From [1, Lemma 4] follows that $\left\{y_{n}\right\}=\left\{f x_{n}\right\}=\left\{g x_{n+1}\right\}$ is a Cauchy sequence. Since $g(X)$ is complete, there exists a $q$ in $g(X)$ such that $y_{n} \rightarrow q$ as $n \rightarrow \infty$. Consequently, we can find $p$ in $X$ such that $g(p)=q$. We shall show that $f(p)=q$. Substituting $x=p, y=x_{n}$ in (2.1), we get

$$
D\left(f p, f x_{n}\right) \leq a_{1} D\left(g p, g x_{n}\right)+a_{2} D(g p, f p)+a_{3} D\left(g x_{n}, f x_{n}\right)+a_{4} D\left(g p, f x_{n}\right)+a_{5} D\left(g x_{n}, f p\right)
$$

According to [1, Lemma 5], it follows

$$
\begin{aligned}
D(f p, q) & \leq a_{1} D(q, q)+a_{2} D(q, f p)+a_{3} D(q, q)+a_{4} D(q, q)+a_{5} D(q, f p) \\
& =\left(a_{2}+a_{5}\right) D(f p, q)<D(f p, q)
\end{aligned}
$$

because $a_{2}+a_{5} \leq \sum_{i=1}^{3} a_{i}+K\left(a_{4}+a_{5}\right)<1$. Now, if we suppose that $f p \neq q$, then we have a contradiction. Hence, $g p=f p=q$. We shall show that $f$ and $g$ have a unique point of coincidence. For this, assume that there exists another point of coincidence $q_{1} \neq q$ in $X$ such that $f p_{1}=g p_{1}=q_{1}$. Now,

$$
\begin{aligned}
D\left(q, q_{1}\right) & =D\left(f p, f p_{1}\right) \leq a_{1} D\left(g p, g p_{1}\right)+a_{2} D(g p, f p)+a_{3} D\left(g p_{1}, f p_{1}\right)+a_{4} D\left(g p, f p_{1}\right)+a_{5} D\left(g p_{1}, f p\right) \\
& =a_{1} D\left(q, q_{1}\right)+a_{2} D(q, q)+a_{3} D\left(q_{1}, q_{1}\right)+a_{4} D\left(q, q_{1}\right)+a_{5} D\left(q_{1}, q\right) \\
& =\left(a_{1}+a_{4}+a_{5}\right) D\left(q_{1}, q\right)<D\left(q_{1}, q\right)
\end{aligned}
$$

As $a_{1}+a_{4}+a_{5} \leq \sum_{i=1}^{3} a_{i}+K\left(a_{4}+a_{5}\right)<1$, we get $D\left(q, q_{1}\right)=0$, that is, $q=q_{1}$. From the Proposition 1.5 , it follows that $f$ and $g$ have a unique common fixed point.

Corollary 2.2. In Theorem 2.1. by setting $E=\mathbb{R}, P=[0,+\infty),\|x\|=|x|, x \in E, g=I_{X}$, we get the main theorem of Hardy-Rogers from [16].

Corollary 2.3. Putting $a_{1}=\lambda, a_{2}=a_{3}=a_{4}=a_{5}=0$ (respect. $a_{2}=a_{3}=\lambda, a_{1}=a_{4}=a_{5}=0$ that is, $a_{1}=a_{2}=a_{3}=0, a_{4}=a_{5}=\lambda$ ) in Theorem 2.1, we obtain Theorem 2.3 from [9].

Since the four points $\{x, y, f x, f y\}$ determine six distances in $X$, the condition (2.4) in the following theorem to say that the image distance $d(f x, f y)$ never exceeds a fixed convex combination of the remaining five distances. Geometrically, this type of condition is quite natural.

Theorem 2.4. Let $(X, d)$ be a sequentially compact cone metric space, $P$ a regular cone and $f: X \rightarrow X$ a continuous mapping such that

$$
\begin{equation*}
d(f x, f y) \prec a_{1} d(x, y)+a_{2} d(x, f x)+a_{3} d(y, f y)+a_{4} d(x, f y)+a_{5} d(y, f x) \tag{2.4}
\end{equation*}
$$

for all $x, y \in X, x \neq y$ where $a_{i} \in[0,1), i=\overline{1,5}$ and $\sum_{i=1}^{5} a_{i}=1$. Then, $f$ has a unique fixed point.
In order to prove Theorem 2.4., we shall need the following lemma.
Lemma 2.5. Let $(X, d)$ be a cone metric space, $f: X \rightarrow X$ a mapping satisfying (2.4) for all $x, y \in X, x \neq y$ where $a_{i} \in[0,1), i=\overline{1,5}$ and $\sum_{i=1}^{5} a_{i}=1$. Then

$$
d\left(f^{2} x, f x\right) \prec d(x, f x), \quad \text { for each } x \in X \text { with } x \neq f x
$$

Proof. Putting $y=f x$ in (2.4), we have

$$
\begin{aligned}
d\left(f x, f^{2} x\right) & \prec a_{1} d(x, f x)+a_{2} d(x, f x)+a_{3} d\left(f x, f^{2} x\right)+a_{4} d\left(x, f^{2} x\right)+a_{5} d(f x, f x) \\
& \preceq\left(a_{1}+a_{2}+a_{4}\right) d(x, f x)+\left(a_{3}+a_{4}\right) d\left(f x, f^{2} x\right),
\end{aligned}
$$

that is,

$$
\begin{equation*}
d\left(f x, f^{2} x\right) \prec \frac{a_{1}+a_{2}+a_{4}}{1-a_{3}-a_{4}} d(x, f x) . \tag{2.5}
\end{equation*}
$$

By symmetry in (2.4), we have

$$
\begin{equation*}
d(f y, f x) \prec a_{1} d(y, x)+a_{2} d(y, f y)+a_{3} d(x, f x)+a_{4} d(y, f x)+a_{5} d(x, f y) \tag{2.6}
\end{equation*}
$$

i.e., putting $y=f x$ in (2.6), we obtain

$$
\begin{aligned}
d\left(f^{2} x, f x\right) & \prec a_{1} d(f x, x)+a_{2} d\left(f x, f^{2} x\right)+a_{3} d(x, f x)+a_{4} d(f x, f x)+a_{5} d\left(x, f^{2} x\right) \\
& \preceq\left(a_{1}+a_{3}+a_{5}\right) d(x, f x)+\left(a_{2}+a_{5}\right) d\left(f x, f^{2} x\right),
\end{aligned}
$$

that is,

$$
\begin{equation*}
d\left(f^{2} x, f x\right) \prec \frac{a_{1}+a_{3}+a_{5}}{1-a_{2}-a_{5}} d(x, f x) \tag{2.7}
\end{equation*}
$$

If $k=\min \left\{\frac{a_{1}+a_{2}+a_{4}}{1-a_{3}-a_{4}}, \frac{a_{1}+a_{3}+a_{5}}{1-a_{2}-a_{5}}\right\} \in[0,1)$, then
$d\left(f x, f^{2} x\right) \preceq k d(x, f x) \prec d(x, f x)$.
Proof of the Theorem 2.4. First, if $u$ and $v$ are two different fixed points of $f$, according to (2.4), we have

$$
\begin{aligned}
d(u, v) & =d(f u, f v) \prec a_{1} d(u, v)+a_{2} d(u, f u)+a_{3} d(v, f v)+a_{4} d(u, f v)+a_{5} d(v, f u) \\
& =a_{1} d(u, v)+a_{4} d(u, v)+a_{5} d(u, v)=\left(a_{1}+a_{4}+a_{5}\right) d(u, v) \prec d(u, v) .
\end{aligned}
$$

This is a contradiction.
Let $x_{0} \in X$. We define the sequence $x_{n}=f^{n} x_{0}, n=0,1,2, \ldots$ If $x_{n+1}=x_{n}$ for some $n$, then $x_{n}$ is a fixed point of $f$. Suppose that $x_{n+1} \neq x_{n}$ for each $n$. Then, we have

$$
\begin{aligned}
d\left(x_{n}, x_{n+1}\right)= & d\left(f^{n} x_{0}, f^{n+1} x_{0}\right)=d\left(f f^{n-1} x_{0}, f f^{n} x_{0}\right) \\
\prec & a_{1} d\left(f^{n-1} x_{0}, f^{n} x_{0}\right)+a_{2} d\left(f^{n-1} x_{0}, f^{n} x_{0}\right)+a_{3} d\left(f^{n} x_{0}, f^{n+1} x_{0}\right) \\
& +a_{4} d\left(f^{n-1} x_{0}, f^{n+1} x_{0}\right)+a_{5} d\left(f^{n} x_{0}, f^{n} x_{0}\right) \\
\preceq & a_{1} d\left(x_{n-1}, x_{n}\right)+a_{2} d\left(x_{n-1}, x_{n}\right)+a_{3} d\left(x_{n}, x_{n+1}\right)+a_{4} d\left(x_{n-1}, x_{n}\right)+a_{4} d\left(x_{n}, x_{n+1}\right),
\end{aligned}
$$

that is,

$$
\begin{aligned}
d\left(x_{n+1}, x_{n}\right)= & d\left(f^{n+1} x_{0}, f^{n} x_{0}\right)=d\left(f f^{n} x_{0}, f f^{n-1} x_{0}\right) \\
\prec & a_{1} d\left(f^{n} x_{0}, f^{n-1} x_{0}\right)+a_{2} d\left(f^{n} x_{0}, f^{n+1} x_{0}\right)+a_{3} d\left(f^{n-1} x_{0}, f^{n} x_{0}\right) \\
& +a_{4} d\left(f^{n} x_{0}, f^{n} x_{0}\right)+a_{5} d\left(f^{n-1} x_{0}, f^{n+1} x_{0}\right) \\
\preceq & a_{1} d\left(x_{n-1}, x_{n}\right)+a_{2} d\left(x_{n}, x_{n+1}\right)+a_{3} d\left(x_{n-1}, x_{n}\right)+a_{5} d\left(x_{n-1}, x_{n}\right)+a_{5} d\left(x_{n}, x_{n+1}\right) .
\end{aligned}
$$

Now, we obtain

$$
2 d\left(x_{n}, x_{n+1}\right) \prec\left(2 a_{1}+a_{2}+a_{3}+a_{4}+a_{5}\right) d\left(x_{n-1}, x_{n}\right)+\left(a_{2}+a_{3}+a_{4}+a_{5}\right) d\left(x_{n}, x_{n+1}\right)
$$

i.e.,

$$
d\left(x_{n}, x_{n+1}\right) \prec \frac{2 a_{1}+a_{2}+a_{3}+a_{4}+a_{5}}{2-a_{2}-a_{3}-a_{4}-a_{5}} d\left(x_{n-1}, x_{n}\right)=\frac{a_{1}+1}{a_{1}+1} d\left(x_{n-1}, x_{n}\right)=d\left(x_{n-1}, x_{n}\right) .
$$

Hence, the sequence $d_{n}=d\left(x_{n}, x_{n+1}\right)$ is strictly decreasing bounded below by $\theta$. Since $P$ is regular, there is $d^{*} \in E$ such that $d_{n} \rightarrow d^{*}(n \rightarrow \infty)$. From the sequence compactness of $(X, d)$, there are subsequence $\left\{x_{n_{i}}\right\}$ of $\left\{x_{n}\right\}$ and $x^{*} \in X$ such that $x_{n_{i}} \rightarrow x^{*}(i \rightarrow \infty)$. Since mappings $f$ and $f^{2}$ are continuous, we have

$$
f x_{n_{i}} \rightarrow f x^{*} \quad \text { and } \quad f^{2} x_{n_{i}} \rightarrow f^{2} x^{*}
$$

By using [1, Lemma 5], we have

$$
d\left(f x_{n_{i}}, x_{n_{i}}\right) \rightarrow d\left(f x^{*}, x^{*}\right) \quad(i \rightarrow \infty) \quad \text { and } \quad d\left(f^{2} x_{n_{i}}, f x_{n_{i}}\right) \rightarrow d\left(f^{2} x^{*}, f x^{*}\right) \quad(i \rightarrow \infty)
$$

It is obvious that

$$
\begin{align*}
& d\left(f x_{n_{i}}, x_{n_{i}}\right)=d_{n_{i}} \rightarrow d^{*}=d\left(f x^{*}, x^{*}\right) \quad(i \rightarrow \infty) \quad \text { and } \\
& d\left(f^{2} x_{n_{i}}, f x_{n_{i}}\right)=d_{n_{i}+1} \rightarrow d^{*}=d\left(f^{2} x^{*}, f x^{*}\right) \quad(i \rightarrow \infty) \tag{2.9}
\end{align*}
$$

Now we shall prove that $f x^{*}=x^{*}$. If $f x^{*} \neq x^{*}$, then $d^{*} \neq 0$. From (2.9) and according to Lemma 2.5 , it follows

$$
d^{*}=\lim _{i \rightarrow \infty} d_{n_{i}+1}=\lim _{i \rightarrow \infty} d\left(f^{2} x_{n_{i}}, f x_{n_{i}}\right)=d\left(f^{2} x^{*}, f x^{*}\right) \prec d\left(f x^{*}, x^{*}\right)=d^{*}
$$

We have a contradiction, so $f x^{*}=x^{*}$. That is, $x^{*}$ is a fixed point of $f$. This completes the proof of Theorem 2.4.
We now list some corollaries of Theorem 2.4.
Corollary 2.6 ([17]). In Theorem 2.4 by setting $E=\mathbb{R}, P=[0,+\infty),\|x\|=|x|, x \in E, a_{1}=1, a_{i}=0, i=\overline{2,5}$, we get the well-known Nemytzki's result for contractive mappings on compact metric spaces.

Corollary 2.7 ([18]). In Theorem 2.4 by setting $E=\mathbb{R}, P=[0,+\infty),\|x\|=|x|, x \in E, a_{1}=1, a_{i}=0, i=\overline{2,5}$, we get the well-known Edelstein's result for contractive mappings on compact metric spaces.

Corollary 2.8. Putting $a_{1}=1, a_{i}=0, i=\overline{2,5}$ in Theorem 2.4, we get the result from [1, Theorem 2].
Remark 2.9. For contractive conditions (2.1) and (2.4) Hardy-Rogers type see also [5,16].
If the space $(X, d)$ is not sequentially compact, condition (2.4) is not sufficient for the existence of a fixed point of the mapping $f$.

Example 2.10. Let $X=[1,+\infty), E=\mathbb{R}^{2}, P=\{(x, y) \in E: x \geq 0, y \geq 0\} \subset \mathbb{R}^{2}$ and $d: X \times X \rightarrow E$ such that $d(x, y)=(|x-y|, \alpha|x-y|)$, where $\alpha \geq 0$ is a constant. Consider the mapping $f: X \rightarrow X$ defined as $f x=x+\frac{1}{x}$. For arbitrary $x, y \in X$, we have that

$$
\begin{aligned}
d(f x, f y) & =(|f x-f y|, \alpha|f x-f y|)=\left(|x-y|\left(1-\frac{1}{x y}\right), \alpha|x-y|\left(1-\frac{1}{x y}\right)\right) \\
& \prec(|x-y|, \alpha|x-y|)=d(x, y)
\end{aligned}
$$

Obviously, the condition (2.4) holds, but $f$ has not fixed points. The space $(X, d)$ is a regular complete cone metric space which is not sequentially compact.

## Acknowledgement

The authors are thankful to the Ministry of Science and Environmental Protection of Serbia.

## References

[1] L.G. Huang, X. Zhang, Cone metric spaces and fixed point theorems of contractive mappings, J. Math. Anal. Appl. 332 (2) (2007) 1468-1476.
[2] M. Abbas, G. Jungck, Common fixed point results for noncommuting mappings without continuity in cone metric spaces, J. Math. Anal. Appl. 341 (2008) 416-420.
[3] D. Ilić, V. Rakočević, Common fixed points for maps on cone metric space, J. Math. Anal. Appl. 341 (2008) 876-882.
[4] G. Jungck, S. Radenović, S. Radojević, V. Rakočević, Common fixed point theorems for weakly compatible pairs on cone metric spaces, Fixed Point Theory Appl. 2009, 13. Article ID 643840, doi:10.1155/2009/643840.
[5] Z. Kadelburg, S. Radenović, B. Rosić, Strict contractive conditions and common fixed point theorems in cone metric spaces, Fixed Point Theory Appl. 2009, 14. Article ID 173838, doi:10.1155/2009/173838.
[6] Z. Kadelburg, S. Radenović, V. Rakočević, A note on equivalence of some metric and cone metric fixed point results, Appl. Math. Lett. (2010) doi:10.1016/j.aml.2010.10.030.
[7] J.O. Olaleru, Some generalizations of fixed point theorems in cone metric spaces, Fixed Point Theory Appl. 2009, 10. Article ID 657914, doi:10.1155/2009/657914.
[8] Mirjana Pavlović, S. Radenović, Slobodan Radojević, Abstract metric spaces and Sehgal-Guseman-type theorems, Comput. Math. Appl. 60 (2010) 865-872.
[9] S. Radenović, Common fixed points under contractive conditions in cone metric spaces, Comput. Math. Appl. 58 (2009) $1273-1278$.
[10] D. Turkoglu, M. Abuloha, Cone metric spaces and fixed point theorems in diametrically contractive mappings, Acta Math. Sin. (Engl. Ser.) 26 (3) (2010) 489-496.
[11] K. Deimling, Nonlinear Functional Analysis, Springer-Verlag, 1985.
[12] T.L. Hicks, B.E. Rhoades, Fixed point theory in symmetric spaces with applications to probabilistic spaces, Nonlinear Anal. 36 (1999) $331-344$.
[13] J. Zhu, Y.J. Cho, S.M. Kang, Equivalent contractive conditions in symmetric spaces, Comput. Math. Appl. 50 (2005) 1621-1628.
[14] W.A. Wilson, On semimetric spaces, Amer. J. Math. 53 (1931) 361-373.
[15] S. Radenović, Z. Kadelburg, Quasi-contractions on symmetric and cone symmetric spaces, Banach J. Math. Anal. 5 (1) (2011) 38-50.
[16] G.E. Hardy, T.D. Rogers, A generalization of a fixed point theorem of Reich, Canad. Math. Bull. 16 (2) (1973) 201-206.
[17] V.V. Nemytzki, Fixed point method in analysis, Uspekhi Mat. Nauk 1 (1936) 141-174.
[18] M. Edelstein, On fixed and periodic point under contractive mappings, J. Lond. Math. Soc. 37 (1962) 74-79.


[^0]:    * Corresponding author.

    E-mail addresses: sradojevic@mas.bg.ac.rs (S. Radojević), ljiljana.paunovic76@gmail.com (L. Paunović), radens@beotel.rs, sradenovic@mas.bg.ac.rs (S. Radenović).

